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adhere to the word limit as practicable,

GROUP-A / faer-=

Answer any five questions:
@-CPA! =5f5 =ivsm T wies
(a) What do you mean by morality?
el gecs g & @ ¢
(b) State two features of business ethics.
TR Mfewicen v cafe B Tl
(c¢) What is ethical dilemma?
e et & 9
(d) What is ethical leadership?
s moe T 9
(e) What do you mean by CSR?
CSR 3=7ts gfil & @i 2
(f) What is corporate governance?
<eoffTa 15 I 20 9
(g) What do you mean by corporate sustainability?
Froficat =iy zews gfit & @ran 2
(h) What is whistle blowing?
=R F Fe70e & carca o

GROUP-B / Rsti-2
Answer any four questions:

@-FIE 517fe 2 Tag wia:

(a) Distinguish between ethics and morality.

el @ tafsTer W wnd )

Full Marks: 50

efae S vy S oA A FE )
s @rrdla [Roerg o Tet T AN T
Gaq Ffa!
2%x5 =10
5x4 =20
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(b) What are the characteristics of ethical dilemma? |
e fagm el @ & 2 o

(¢) Discuss in brief the traits of an cthical leader.
e @ora e MUTLS b $Ta

(d) Briefly discuss the Indian Model of Corporate Governance.
ARG Torie Srash weAD RUFC AL FE

(¢) What is the relationship between CSR and corporate sustainability?
CSR @& TToTal Aifcea sy 5o f 2

(f) Write a short note on Audit Committee.

wfEs =R fReaz B walh g B et

GROUP-C / f&sti-1
Answer any fwo questions:
Q- §fE =ivaa Tea wies
(a) Explain Heinz Dilemma with the help of Kohlberg’s Theory.
RTERICR TG FYE0 @RGSR i1 T
(b) Discuss Stakeholders theory of business ethics.
FIATE ANTR COPYDIAR ©F G TR
(c) What are the common ethical dilemma in Accounting?
wRTERS: e R tieT G 7 & 2

(d) How far whistle blowing policy is successful in the context of recent corporate
scams in India?

ST e IUAED EETHRT @ oG Tare G w0 FOh! 7 ?
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